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‘ x2 —5x+6 = (x-2)(x-3)
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= Al T a, b, c i BAS SHEA UERd 227

a=V3+3,b=5-vV2,c=4

D a<b<c @ b<a<c

@ c<a<b ® c<b<a

b—c=(-V2)-4=1-V2<0,b<c
a-c=(V3+3)-4=vV3-1>0,a>c
S.b<c<a




5. & 7 V2 oF V3 Aol Qe Felertobd 227 (Tv2 =

1.414, V3 =1.732)

D V2401 @ V3-01
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D V2+0.1=1514
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(x+2)? = (x=1)(x+2) & HA7Hote] ko] UEp?

D 2x2+4x+6 @ 2x% —4x
@3x+6 ® 3x-6

® x2-7x+2

EN=(x+2){x+2-(x-1)}
:(x—|—2)>(3=3x+6
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D V2<2 @ -vV3>-45

@x/ﬂ«).l ® 3< V10
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@ V2< V4
@ V3< 5
® V8< V9
@ +0.1> 0.01
® V9 < V10
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che 4214 9191 4 A, B, C, Dol thg sk
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A=
T=da,
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-2 -1 0 1 2 3 4 5 6

@D 3v3-3v5+10 @ 4V3+2v5-7
® 3v3+2V5-5 @s- 5
® V3-2

~&B

4V3-2= VI8 -2=4.xxx:C
2V5-5=V20-5= —0.x xx : A
10-3v5=10- V45 =3.xxx : B

V27 =5.xxx: D
a=2V5-5b=10-3vV5
na+b=(2V5-5)+(10-3V5) =5- V5
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VBT +x =45 & o, %= x 22

® 32 (@)23 ® 11

@ 9

45 = /80
V80 = V57 + x©]| B2 x = 230|t},




V0 + wm%:avs, VIS x /S5 VT = 56 @ W, ax
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@ 4 (@)9 @ 16 @ 25 ® 36
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V2 arv3

@ 6 @ 5

@ 4 @ 3 ®>)2

V2-1+V3-V2+

o VI-VB=-1+VI=-1+3=2
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ab= -4, (a+2)(b+2) =102 W, a* + b> 4 a®b + ab? 2] F-2?

@® 121 @ 134 ® 146 @ 152 @165

(a+2)(b+2)=ab+2(a+b)+4=10
ab=-4E WY H a+b=5
T a2+ b2 = (a+b)*> - 2ab =52 -2 (-4) = 33

v a®+b® +a*b+ab® = a® (a+b) + b* (a+ b)
= (a> +b%)(a+b)
=33x5
=165




